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Run 5120 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

— - Entries 51186
B Mean —4.931
- Std Dev 6238
I_ I 1 L1 | | - 1 | 1 | - 1 1 1 | 1 1 | 1 L 1 | L1 1 I 1 =1 ﬂa
—600 —400 —200 D 200 400 600 BOO
HelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamplesD - 33.423477)
Run 5120 gquartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 5120 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5120 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 5120 quartetwise, Diffs0: All
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Run 5120 quartetwise, Diffs0: Beam ON, Laser ON
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Run 5120 quartetwise, Diffs0: Beam OFF
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Run 5120 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

— Entrigs 2820

- Mean  0.002029

[ Std Dev 0411

:l [ =S SO [y N SN L1 Y, S [ R S N T N |

-3 -2 -1 2 3

PosHelAccO/PosHelNSamples) - NegHelAccO/NegHelNSamplesD




12000

10000

BO00

6000

4000

2000

140

120

100

B0

60

40

20

Run 5120 quartetwise, NegHelAccO/NSamples0:
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Run 5120 quartetwise, PosHelAccO/NSamples0d: Beam ON, Laser ON
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Run 5120 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 5120 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 5120 quartetwise, Sums0: All Run 5120 quartetwise, Sums0: Beam OFF
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